	I am certain that this is Paris.
	I am certain that this is Paris.

	It must be Paris.
	It_______________ Paris.

	It is possible that there live 11 million people.
	It is possible that there left 11 million people.

	There co_____________11 million people.
	There could live 11 million people.

	It certainly isn't Cuba because he has never been there.
	It certainly isn't Cuba because he has never been there.

	It can't be Cuba because he has never been there.
	It ________ Cuba because he has never been there.

	Peter says that he is certain that this Spain.
	Peter says that he is certain that this Spain.

	Peter says _______________ Spain.
	Peter says that it must be Spain.

	It is possible that they speak Portuguese.
	It is possible that they speak Portuguese.

	They might speak Portuguese.
	They m___________ Portuguese.

	Perhaps it's in Switzerland.
	Perhaps it's in Switzerland.

	It c____________ Switzerland.
	It could be in Switzerland.

	Maybe it´s wrong.
	Maybe it´s wrong.

	It may be wrong.
	It m________wrong.

	It is -10°C, I am certain he is cold.
	It is -10°C, I am certain he is cold.

	It is -10°C, he ___________ cold.
	It is -10°C, he must be cold.

	I am certain it's not so cold.
	I am certain it's not so cold.

	It can't be so call
	It ___________ so cold.

	I am absolutely sure that he was at home.
	I am absolutely sure that he was at home.

	He ________________ at home
	He must have been at home

	Perhaps he went out.
	Perhaps he went out.

	He might have gone out.
	He m ________________ out.

	I am sure he didn't build this.
	I am sure he didn't build this.

	He ________________ this.
	He can't have built this.

	Maybe he went by car.
	Maybe he went by car.

	He might have gone by car.
	He mi______________ by car.

	Perhaps they were there.
	Perhaps they were there.

	They co_____________ there. 
	They could have been there. 
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